Revman Plots: Breathing without a toy distraction child >3-12 yrs

Pain
Breathe without toy Control Std. Mean Difference Std. Mean Difference
Study or Subgroup  Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Cohen 2002 a 5 418 3 558 398 30 45.3% -0.14 [-0.64, 0.36]
French 1954 36 38 39 a1 4 36 547% -0.38 [-0.84, 0.08]
Total (95% CI) 70 66 100.0% -0.27 [-0.61, 0.07]
Heterageneity Tau®=0.00; Chi®= 048, df=1 (P=049); F=0% :2 11 5 1! é
Testfor overall effect. Z=1.58 (F = 0.12) Favours Breathe/Motoy  Favours Control
Fear
Breathe without toy Control Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean 50  Total Mean SD Total Weight IV, Random, 95% Cl IV, Random, 95% Cl
Cohen 2002 a 568 3.488 3 ¥ 385 30 100.0% -0.36 [-0.86, 0.14]
Total (95% CI) k3| 30 100.0% -0.36 [-0.86, 0.15]
Heterogeneity: Mot applicable 52 51 3 15 é
Testfor overall effect 2= 1.38 (F = 0.17) Favours Breathe/Mo toy Favours Control

Distress Unclear

Breathe without toy Control Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean SD  Total Mean SD Total Weight I, Random, 95% CI IV, Random, 95% CI
Cohen 2002 a 1.6 2.38 M 218 305 0 451% -0.21 071, 0.249] ——
French 1994 049 1.3 39 14 1.8 36 54.9% -0.32 077, 0.14] —
Total (95% CI) 70 66 100.0% -0.27 [-0.61, 0.07] <4
Heterageneity: Tau?= 0.00; Chi= 010, df=1 (P = 0.76); F= 0% 12 11 5 1= é

Testfor overall effect. Z=1.56 (F = 0.12) Favours Breathe/Mo toy Favours Control



